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1. This booklet contains 200 questions in all comprising the following four parts:

Part - (i): Reasoning Aptitude (40 Question)
Part - (ii): Numerical Ability (40 Question)
Part - (iii): English Language (40 Question)
Part - (iv): Computer Awareness (40 Question)
Part - (v): General Awareness (40 Question)

2. All questions are compulsory and carry equal marks.

3. Before you start to answer the question you must check up this booklet and ensure that it contains all the pages and
see that no page is missing or replaced. If you find any defect in this booklet, you must get it replaced immediately.

4. The paper carries negative marking. 0.25 marks will be deducted for each wrong answer.

5. You will be supplied the Answer-sheet separately by the invigilator. You must complete the details of Name,
Roll number, Test Id and name of the examination on the Answer-Sheet carefully before you actually start
answering the questions. You must also put your signature on the Answer-Sheet at the prescribed place.
These instructions must be fully complied with, failing which, your Answer-Sheet will not be evaluated and
you will be awarded ‘ZERO’ mark.

6. Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the
relevant question number by HB pencil or Black/ blue ball pen only.

7. A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely
/different from the information given in the application form, the candidature of such candidate will be
treated as cancelled.

8. The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.

9. Failure to comply with any of the above Instructions will render a candidate liable to such action/penalty as
may be deemed fit.

10. Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy.
Do not spend too much time on any question.

11. Mobile phones and wireless communication device are completely banned in the examination halls/rooms.
Candidates are advised not to keep mobile phones/any other wireless communication devices with them
even switching it off, in their own interest. Failing to comply with this provision will be considered as using
unfair means in the examination and action will be taken against them including cancellation of their
candidature.

12. No rough work is to be done on the Answer-Sheet.
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REASONING APTITUDE

1. Four of the following five are alike in a certain way and
so form a group. Which is the one that does not belong
to that group?

(1) 169 (2) 125 (3) 216
(4) 27 (5) 343

2. Pointing to a boy Meena said, “Ramesh is the son of my

father-in-law’s only son. How is the Ramesh related to

Meena?
(1) Nephew (2) Son (3) Brother
(4) Cannot be determine (5) None of these

3. Ifitis possible to make only one meaningful word with
the first, the fourth, the sixth and the tenth letters of the
word MANAGEMENT. Which of the following will be the
first letter of the word? If no such word can be made,
give ‘N’ as the answer and If more than one such words
can be made give Y as the answer.

(DE 2M ()N AT )Y

4. Inarow of children, Janki is third to the right of
Akansha, who is ninth from the left end of the row.
What is Akansha position from the right end of the row?
(1) 12th (2) 13th (3) 14th
(4) Data inadequate (5) None of these

5. How many such pairs of letters are there in the word
APOCALYPTIC, each of which has as many letters
between them in the word as they have between them
in English Alphabet?

(1) None (2) One (3) Two
(4) Three (5) More than Three

Directions (6-10): In each of the questions below are given
four statements followed by three conclusions numbered I,
Il and III. You have to take the three statement to be true
even if they seems to beat variance from commonly known
facts and then decide which of the given conclusion logically
follows from the three statements disregarding commonly
known facts.
6. Statements: Some leaves are flowers. No flower is fruit.

Some fruit are trees. Some trees are plants.

Conclusion: I. Some leaves are plants.

II. All leaves are either plants or fruits.

[1I. All plants are either trees or fruits.

(1) only I follows (2) both II and III follows

(3) only III follows (4) All follow

(5) None follow
7. Statements: All dogs are cats. All cats are rats. Some rats

are snakes.

Conclusions: I. Some cats are snakes.

II. Some snakes are dogs.

[II. some rats are dogs

(1) only I follows (2) only III follows
(3) only II follows (4) both I and III follows
(5) All follows

8.

10.

Statements: Some mobiles are television. Some
televisions are computer. All computers are laptops. All
laptops are machines.

Conclusions: I. Some computers are mobiles.

I1. Some laptops are television.

I11. All computers are machines.

(1) None follows (2) both I and II follow

(3) both Il and I1I follows  (4) both I and III follows
(5) None of these

Statements: Some fans are coolers. Some coolers are AC.
Some AC are refrigerator. All refrigerator are machines.
Conclusions: I. Some machines are AC.

II. Some AC are fans.

I1I. No AC are fans

(1) None follows (2) only I follows

(3) either II or III follows

(4) only I and either II or III follows

(5) All follow

Statements: All newspaper are magazines. All
magazines are books. Some books are papers. Some
papers are booklets.

Conclusions: I. Some booklets are newspapers.

II. All newspapers are books.

III. some papers are newspapers.

(1) both I and II follow (2) only I follow

(3) only II follow (4) All follow

(5) None of these

Directions (11-15): These questions are based on the
following arrangement.
F761G*$LM3KC@ARM14D%J#29PQ3

11.

12.

13.

14.

If all the symbols are dropped from the given
arrangement, which of the following will be fourth to
the right of tenth from the left end?

(OR (21 (3)4 4)D ((B)A

How many such symbols are there in the given
arrangement each of which is either immediately
followed or immediately preceded by a consonant but
not both?

(1) None (2) One (3) Two

(4) Three (5) More than three

If the position of ten elements from the right end is
reversed which of the following will be fifth to the right
of thirteenth from the right?

M) % (2)D 3)P

4)Q (5) None of these

How many such consonants are there in the given
arrangement each of which is immediately preceded by
a vowel and also immediately followed by another
consonant?

(1) None (2) One (3) Two

(4) Three (5) More than three
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15. Four of the following five are alike in a certain way on
the basis of their positions in the given arrangements
and so form a group. Which is the one that does not

belong to the group?
(1) LK3 (2) D#] (3) @MA
(4) 1$* (5) R41

Directions (16-18): In the following questions the symbols

@, #, %, $, * are used with different meanings as follows

P@Q means P is not smaller than Q.

P#Q means P is not greater than Q.

P%Q means P is neither smaller than nor equal to Q.

P$Q means P is neither greater than nor equal to Q.

P*Q means P is neither greater than nor smaller than Q.

16. Statements: A#K, K@Z, Z%B, B*D
Conclusion: 1. D$K IL. B$SA
(1) only I and either II or III follow
(2) only I follows (3) either I1 and III follow
(4) both I and II follows (5) None of these

17. Statements: W@V, V#S, S$A, A@B
Conclusions: 1. A%V II. S$B III. B@V
(1) both I and II follow (2) both II and III follow
(3) both I and III follow (4) All L, IT and III follow
(5) None of these

18. Statements: M@L, K#L, K$N, N%O

III. B@A

Conclusions: I. M%K I. L@N IIL. K$O0
(1) only I follows (2) only II follows
(3) both I and III follows ~ (4) both I and II follow

(5) None of these

Direction (19-20): Study the following information

carefully to answer these questions.

D$E means D is wife of E

D#E means D is son of E

D%E means D is father of E

D*E means D is sister of E

19. Which of the following expressions represents the
relationship ‘P is brother of H'?
(1) H*P%K (2) P*H%K (3) H#K%P
(4) H*K%P (5) None of these

20. In H*P#Q%L, how is H related to L?
(1) Cousin (2) Brother
(4) Cannot be determined

(3) Sister
(5) None of these

Directions (21-25): Each of the following question is based
on the following information.

A,B,C,D,E,F and G are seven kids playing in the garden. They
are wearing caps of different colours -red, blue, orange,
green, pink, yellow and brown. Out of seven three are girls.
No girl is wearing either red, yellow, or brown. D’s sister F is
wearing pink, while he is wearing brown. A is wearing blue,
while his sister B is not wearing green. E is wearing yellow,
while his best friend G is a boy.

21. What colour B is wearing?

(1) green (2) pink (3) brown
(4) red (5) None of these

22. What colour is G wearing?
(1) red (2) Blue (3) orange
(4) green (5) None of these

23. What colour is C wearing?
(1) Red (2) green (3) orange
(4) pink (5) none of these

24. What colours are the sister of A and D wearing?
(1) pink & green (2) pink & yellow
(3) orange & green (4) orange and brown
(5) None of these

25. Which group is denoting only girls?
(1) BCE (2) BEF (3) BCF
(4) None (5) None of these

Directions (26-30): Study the following information
carefully to answer these question .
I. Sonia, Sakshi, Monika, Nupur, Pallavi, Ankita and Neha
are sitting in a circle and playing Antakshari.
II. Monika, who is the neighbour of Nupur, is not the
neighbour of Ankita.
I11. Pallavi is second to the left of Ankita.
IV. Monika is second to the left of Neha, who is the
neighbour of Salshi
26. Which of the following is true?
(1) Pallavi is the neighbour of Neha and Sonia.
(2) Sakshi is the neighbour of Neha and Sonia
(3) Ankita is the neighbour of Nupur and Sakshi
(4) Sonia is the neighbour of Anikta and Monika
(5) None of these
27. Which of the following pair has the second person
sitting to the right of the first person?
(1) Ankita Sakshi  (2) Monika Pallavi (3) Pallavi Neha
(4) Monika Ankita (5) None of these
28. Which of the following pair has the first person sitting
third to the left of the second person?
(1) Ankita sakshi  (2) Neha Sonia (3) Neha Ankita
(4) Monika Sonia  (5) None of these
29. Who is the immediate right of Neha?
(1) Sakshi (2) Ankita (3) Pallavi
(5) Sonia (5) None of these
30. What is the position of Sonia?
(1) to the immediate right of Ankita
(2) second to the left of Sakshi
(3) to the immediate right of Pallavi
(4) only between Sakshi and Ankita
(5) None of these

Directions (31-35): In arrangement a machines when
given an input of words, rearrange them following a
particular rule

Input: This chapter would give you basic concepts
Step 1: basic this chapter would give you concepts
Step 2: basic chapter this would give you concepts
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Step 3: basic chapter concepts this would give you
Step 4: basic chapter concept give this would you
study the logic and answer the question that follow

31.

32.

33.

Input: “do not imitate others work”

Which of the following will be the step 3 for the given
input?

(1) do others not imitate work

(2) do imitate not others work

(3) work do others imitate

(4) do not others work imitate

(5) there will be no 3rd step

Input: “adequate safety arrangement are must for
kids”

Which of the following will be 2nd last step for the
given input?

(1) adequate are arrangement for kids safety must
(2) adequate are arrangement for kids must safety
(3) adequate are safety arrangement must for kids
(4) adequate safety are arrangements must for kids
(5) None of these

Input: “Marcus Brauchli gives inaccurate
information”. How many steps are required to
rearrange the above input properly

34.

35.

(3 (2) 4 3)5

(4) 2 (5) None of these

Input: “most Indian leaders cannot even visualize
free India”. Which of the following will be last step of
above Input?

(1) most Indian even leaders cannot visualize free
India

(2) cannot even free India Indian most leaders
visualize

(3) cannot even free India most Indian leaders
visualize

(4) cannot even free India Indian leaders most
visualize

(5) None of these

Step IV: “it is figure anti-establishment from media”.
Which of the following is the input of the above
mentioned step

(1) it is figure from anti-establishment media

(2) media it is figure from anti-establishment

(3) it is anti-establishment media from

(4) cannot be determined

(5) None of these

Directions (36-40): In each of the questions given below, which one of the five figures on the right should come after
the problem figures on the left, if the sequence were continued.

37.

38.

39.

Problem figure

Answer figure

o ee wun it 1|1 O w 1[f 4o vo eoD e
+ 0 O ] 4 + ® + + i
+ np +le T Oj+° @ e Ov 0Ot eT wu+*r
(1) (2) (3) {4) {5)
= — * — S <
N B S| A T = l s
= — * ¢ t ' S < ** ?
¢ ! ¢ X * * — Ld 1=
(1) {2) (3) (4) (5)
(1) (2) (3) {4) (5)
ul N N 7 7z N n N Z
1 7 v ! 1 T T T Y T
m = = | W w E E 3 = &
(1) (2) (3) {4) (5)
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QUANTITATIVE APTITUDE
Directions (41-45): Shown below is the multiple bar 46. 16.71 + 15.69 - 27.28 -3.62=7-99.5
diagram depicting the changes in the student’s strength of a (19 (2) 100.25 (3)101
college in four faculties from 2000-01 to 2002-03 (4) 99.50 (5) None of these
OArts B Economics OGeography [bScience 47. 11X52 B 62X7 * 92 =P2+64
(1) 40 (2) 60 (3) 20
700 (4) 80 (5) None of these
600 48. 84% of 125 - 40% of 150 - 23.76 =7 + 11.24
500 1 (1) 12.50 (2) 15 (3) 10.05
200 L 4)5 (5) None of these
300 || 49. 7E><20§+71><6£:?+3£><7Z
13 3 12 13 14 3
200 - — — (1) 251 (2) 187 (3) 219
100 -+ = (4) 189 (5) None of these
0 . . . 50. V4356+V3136+v? =7921+V1521
(16 (2) Ve (3) 36
2000-01 2001-02 2002-03 (4) 36 (5) None of these
Years 51. 2201 + 1405 - 1234 - 1213 =?
(1) 1119 (2) 1128 (3) 1158
(4) 1159 (5) None of these
Study Fhe above. multipl.e bar charts and solve the 52. 21627 x6>2+36%4 =6’
following questions which are as fOllOVYS: : (1) 1.5 (2) 1.6 (3) 2.5
41. The percentage of students in Economics faculty in (4) 2.6 (5) None of these
2000-01 was 9
(1) 26.9% (2) 27.8% (3) 29.6% 53. \/729—-329x343+5==?x x/lO_O
(4) 30.2% (5) None of these 8
42. The percentage of students in science faculty in 2002-03 (1) 144 (2) 212 (3) 112
was (4) 224 (5) None of these
(1) 18.5% (2) 15.6% (3) 16.7% 54. 90% of 140 x 18% of 50 = ? x 24% of 25
(4) 14.8% (5) None of these (1) 199 (2) 189 (3) 129
43. How many times the total strength was of the strength (4) 149 (5) None of these
of Geography students in 2001-02? 55. 111.22 + 22211 + 333.44 + 444.33 -100.1 =7
(1) 3 times (2) 4 times (3) 5 times (1) 1011 (2) 1101 (3) 1111
(4) 6 times (5) 7 times (4) 1110 (5) None of these
44. During which year the strength of arts faculty was 56 § of § of 7 = 200
minimum? 7T 2
(1) 2000-01 (2) 2001-02  (3) 2002-03 (1) 50 (2)70 (3) 60
(4) 2001-03 (5) None of these (4) 40 (5) None of these
45. How much percent was the increase in Economics
students in 2002-03 over 2000-01? Directions (57-61): What will come in place of the question
13500 211509 3 66 z o mark (?7) in the following number series?
(1) 50% (2) % (3) 3 % 57. 211200178 1451017
(4) 75% (5) None of these (1) 36 (2) 56 (3) 46
(5) 26 (5) 66
Directions (46-55): What should come in the place of the 58. 163565133 2615257
questions mark(?) in the following question? (1) 925 (2) 1045 (3) 1125
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59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

(4) 1120 (5) None of these

896425216 495127

(1) 729 (2) 84 (3) 100
(4) 121 (5) None of these
6934.51.52.250.75

(1) 1.125 (2)0.25 (3) 1.025
(4) 0.125 (5) None of these
420140700 4900 ?

(1) 25500 (2) 24500 (3) 20500
(4) 23500 (5) None of these

The average speed of a truck is two-third the average
speed of a train which travels 240 kms in 2 hours. How
much distance will the truck covers in 5 hours?

(1) 360 km (2)420km  (3) 300 km

(4) 400 km (5) 280 km

The bus fare of one adult is Rs. 140 from Ranchi to
Patna and bus fare of a child is half the fare of one adult
between the same places. What is the total bus fare of 4
adults and 3 children between same places?

(1) Rs. 666 (2) Rs. 670 (3) Rs. 700

(4) Rs. 570 (5) None of these

Jigyasha monthly expense on shopping is 20% travelling
is 25%, food is 45% and 10% on other recreational
activities. What is the total amount she spent on
travelling and food together?

(1) Rs. 20,000 (2) Rs. 18000  (3) Rs. 10,000

(4) cannot be determined  (5) None of these

Anjali sells his printer at 5% loss. If she sells it for Rs. 80
more, she gain 5%. The cost price of the printer is

(1) Rs. 800 (2) Rs. 1600  (3) Rs.1200

(4) Rs. 1000 (5) None of these

In a mixture of 90 litres, the ratio of alcohol and water is
2:1. If the ratio is 1:2 the quantity of water to be further
added is

(1) 20 litres (2) 30 litres

(4) 90 litres (5) None of these
What is the least number which when divided by 5,6,7,8
gives remainder 5 in each case and is completely
divisible by 57

(1) 1677 (2) 1685

(4) 1680 (5) None of these
Price of 5 tools and 2 tables is Rs. 1350. Two stools cost
as much as one table. What is the price of one stool and
on table?

(1) Rs. 350 (2) Rs. 500

(4) Rs. 550 (5) None of these
The average age of 5 member of an interview board is

the same as it was 2 years ago, because an old member
has been replaced by a new member. The difference
between the ages of old and new member is
(1) 3 years (2) 7 years

(4) 10 years (5) None of these

(3) 60 litres

(3) 1689

(3) Rs. 450

(3) 4 years

70.

If 3 is added to the denominator of a fraction it becomes
E and if 4 is added to its numerator, it becomes § . The
fraction is
(1) 4

9

3 7
2) — 3) —
()20 ()24

5
4) — 5) None of these
(4) 12 (5)

Directions (71-75): What approximate value should come
in place of the question mark (?) in the following questions?
(Note: you are not expected to calculate the exact value)

71.

72.

73.

74.

75.

49.5% of 599.9 - 44% of 149.76 =?

(1) 234 (2) 230 (3) 250
(4) 240 (5) None of these
(7.01)3-(13.0)2+(6.01)2 = ?
(1) 212 (2) 199 (3) 220
(4) 200 (5) None of these
2.69 + 20.05 + 3891 - 4.67 - 25.82 - 29.39
(17 (2)8 (3)6
42 (5) None of these
V570 - V449 =1
19 2)V9 3)3
(4)V3 (5) None of these
31 x8ﬂ ng =?

W 593
(1) 170 (2) 285 (3) 270
(4) 260 (5) None of these

Directions (70-75): Study the following bar graph which
shows pass percentages of boys and girls in an examination
in a school from classes V to X and answer questions-

OBoys MGirls
100
©
2 80 fpm i
7]
>
a
2 60 H
©
[J]
& 40 H
-t
[
[J]
e 20
[J)]
[-%
a
© 0 +
(-8
\' Vi Vil Vil IX X
Classes

76.

In which class failure of the girls is the lowest?
(v (2) vl

(3) vl (4) X

(5) None of these
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77. In how many class the pass percentage of girls is more
than average pass percentage of the boys of all the

classes?
(D3 (2) 4
(3)5 46

(5) None of these
78. The performances of classes in which and performance
of girls is better than that of boys?
(1) VIl and IX (2) Vland IX
(3) Vil and IX (4) Xand IX
(5) None of these

79. The number of classes in which the performance of girls
is better than that of boys?
M1 (2)2
3)3 (4)4
(5) None of these
80. In which class the performance of boys is the worst as
compared to the girls?
(v (2) VI
(3)yvi (4) vl
(5) None of these

ENGLISH LANGUAGE

Directions (81-95): Read the following passage carefully
and answer the questions given below it. Certain words are
given in bold to help you to locate them while answering
some of the questions.

Mihir and Mahadev lived in the same village. While Mahadev
owned the largest shop in the village, Mihir was a poor
farmer. Both had large families, with many sons,
daughtersin-law and grandchildren. One day, Mihir, tired of
not being able to make ends meet, decided to leave the
village and move to the city where they were sure to make
enough to feed everyone. They said their goodbyes, packed
their few belongings and set off. When night fell, they
stopped under a large tree. There was a stream running
nearby, where they could refreshthemselves. Mihir told his
sons to clear the area below the tree. He told his wife to
fetch water. He instructed his daughters-in-law to make
up the fire and started cutting wood from the tree himself.
Now, in the branches of that tree sat athief. He watched as
Mihir’s family worked together. He also noticed they had
nothing to cook. Mihir’s wife too thought the same, for she
said to her husband, “Everything is ready. But what shall we
eat ?” Mihir raised his hands to heaven and said, “Don’t
worry. He is watching all this from above. He will help us.”
The thief was worried. He had seen that the family was large
and worked well together. Surely they did not know he was
hiding in the branches ? He decided to make a quick
getaway. He climbed down swiftly when they were not
looking and ran for his life. But, he left behind his bundle of
stolen jewels and money, which dropped down into Mihir’s
lap. He opened it and jumped with joy when he saw the
contents. The family promptly gathered its belongings and
returned to the village. There was great excitement when
they told everyone how they got rich.
Mahadev thought this was a nice quick way to earn some
money ! He commanded his family to pack some clothes and
they set off as if on a journey. They stopped under the same
tree and Mahadev started commanding everyone as Mihir
had done. But no one in his family was willing to obey
orders. They were used to having servants wait on them -
so the one who went to the river to fetch water had a nice
bath. The one who went to gather wood for the fire went off

to sleep beneath the tree. And Mahadev only ordered
everyone about, not bothering to do anything himself.
Meanwhile the thief had returned to the tree. He noticed the
family members were greedy and selfish. They would never
be able to put up a fight together. Then, Mahadev and his
wife started the conversation that they had rehearsed
carefully. Mahadev’'s wife said, “Everything is ready. But
what shall we eat ?” Mahadev raised his hands upwards and
said,“"Don’t worry. He is watching all this from above. He will
help us”. At this, the thief jumped down from the tree, knife
in hand. Seeing him, everyone started running helter skelter
to save themselves. The thief stole everything. Mahadev and
his family had to return to the village empty-handed, having
lost all the jewellery and gold they had taken with them.
81. Which of the following cannot be said about Mihir’s

family ?

(a) They respected and obeyed Mihir.

(b) They were so poor that they sometimes had to

starve.

(c) They had no friends in the village when they were
poor.

(1) None (2) Only (c) (3) Only (b) and (c)

(4) Only (b) (5) All (a), (b) and (c)

82. Why did Mihir and his family decide to camp under the
‘thief’s tree’ ?
(1) Being a large family they knew they could capture
the thief
(2) It was a convenient spot to camp for the night
(3) It was the only tree large enough to shelter the
whole family
(4) there was a stream nearby and wood to build a
house
(5) Exhausted after the day’s travel they couldn’t walk
any more

83. Why did the thief leave the valuables he had stolen
behind?
(1) Seeing Mihir’s faith in God the thief was filled with
remorse
(2) Feeling sorry for Mihir’s family he decided to
donate the valuables to them
(3) He was afraid that God would punish him for
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84.

85.

86.

87.

88.

89.

90.

stealing

(4) In his hurry to run away he forget to take the
valuables along

(5) He was confident that they were so well hidden
that they would not be found

Which of the following best describes Mahadev?

(1) He was a rich businessman

(2) He bullied his wife so she obeyed him

(3) He paid his servants well to look after his family’s
needs

(4) He was greedy and had cheated Mihir

(5) He was brave and decided to trick the thief

Why did Mihir’s family return to the village?

(1) To show off their newfound wealth

(2) To buy back their land and start a business

(3) They had no need to shift to the city

(4) To share their wealth with the other villagers

(5) They wanted to sing God’s praises to all the
villagers

What made Mihir utter the phrase, “He is watching all
this from above.” ?

(1) He had spotted the thief and wanted to frighten him
off

(2) He was telling his wife to trust God to look after
them

(3) It was a warming to his family members to stick
together

(4) He was begging the thief for help to feed his family
(5) None of these

Which of the following is TRUE in the context of the
passage?

(1) Mahadev planned to seek his fortune in the city as
Mihir had

(2) Mihir’s family preferred to live in the city

(3) Mahadev had no intention of moving to the city
(4) Mahadev lost his entire life savings to the thief
(5) The thief only robbed those whom he did not like
Why did the thief return to the tree ?

(1) To plot how to get his money back

(2) He thought no one would look for him there

(3) To keep a watch on Mahadev’s family

(4) Not mentioned in the passage

(5) None of these

Why was the thief not afraid of Mahadev’s family?
(1) They had not brought their servants along to
protect them

(2) Seeing their wealth he suspected them of stealing
his loot

(3) He had weapons to defend himself

(4) Mahadev’s family was not as large as Mihir’s

(5) None of these

How did the villagers react to Mihir’s new found
wealth?

(1) They tried hard to coax him to reveal the secret of
his wealth

(2) They followed his example and became more
devout

(3) They pretended to happy for him but were secretly
jealous

(4) They each plotted to visit the tree and get

rich quickly

(5) None of these

Directions (91-93): Which of the following is most similar
in meaning to the word given in bold as used in the passage.

91.

92.

93.

Make

(1) earn (2) estimate  (3) prepare
(4) build (5) settle

lost

(1) defeated (2) failed (3) forfeited
(4) wasted (5) destroyed

getaway

(1) holiday (2) freedom  (3) fantasy

(4) escape (5) relaxation

Directions (94-95): Which of the following is most
opposite in meaning of the word given in bold as used in the
passage.

94,

95.

rehearsed

(1) repeated
(4) unplanned
willing

(1) oblige

(4) determined

(2) forced
(5) effortless

(3) fake

(2) reluctant
(5) obstacle

(3) distracted

Directions (96-100): Read each sentence to find out
whether there is any grammatical error or idiomatic error

in it. The error, if any, will be in one part of the sentence.
The letter of that part is the answer. If there is no error the
answer is (5). (Ignore errors of punctuation, if any)

96.

97.

98.

99.

100.

The majority of the population believes (1) / that the
stock market is recovered (2) / and that it is the (3) /
right time to buy shares. (4) No error (5)

Seema’s new office is close (1) / to her residence so (2)
/ she will not longer (3) / have totravel by train. (4) No
error (5)

In the present guidelines, (1) / the bank is required to
obtain (2) / a photograph from any person (3) / who
wishes to open an account. (4) No error (5)

Chetan puts in a lot (1) / of effort to ensure (2) / that
the scheme was (3) / launched in March. (4) No error
(5)

As our economy is (1) / experiencing a recession,
banks (2) / have became very cautious (3) / about
giving loans. (4) No error (5)
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Directions (101-105): Rearrange the following six
sentences (a), (b), (c), (d), (e) and (f) in the proper sequence
to form a meaningful paragraph; then answer the questions
given below them.
(a) A few minutes later he was hauled back on board the
ship, on the captain’s orders.
(b) One of the crew began to complain and moan about the
situation and no
one could silence him.
(c) Marvelling at the change, the passengers asked for an
explanation, to which the captain replied, “We never
appreciate how well off we are in a situation until we fall
into a worse one”.
(d) During a voyage a great storm arose.
(e) In exasperation the captain ordered him to be thrown
overboard.
(f) To everyone’s surprise, the man immediately went back
to his post and silently began to work.
101. Which of the following should be the THIRD sentence
after rearrangement?
M@  (2)(b) (3)(c) (4)(d) (5)(e)
102. Which of the following should be the FIRST sentence
after rearrangement?
M@  (2)(b) (3)(c) (4)(d) (5)(e)
103. Which of the following should be the LAST (SIXTH)
sentence after rearrangement?
W) (2 B)(d) (4)(e) (5) (O
104. Which of the following should be the SECOND sentence
after rearrangement?
W) (2 ) (4)(e) ()@
105. Which of the following should be the FIFTH sentence
after rearrangement?

M@ ()b B)) B[ GO

Directions (106-110): Which of the phrases (1), (2), (3)
and (4) given below should replace the phrase given in bold
in the following sentence to make the sentence meaningful
and grammatically correct. If the sentence is correct as it is
and no correction is required, mark (5) as the answer.
106. Ensure we have the necessary clearance is the
responsibility of the legal department.
(1) Ensuring we have (2) To ensure having
(3) We have been ensured (4) Ensuring us having
(5) No correction required
107. They have decided to go ahead and implement which
was discussed at last month’s conference in Chennai.
(1) What we had discussed (2) Whatever discussion
(3) That being discussed (4)Which has been discussed
(5) No correction required
108. To reduce costs, we should replace our current system
by much efficient one.
(1) Through more efficient (2) Efficiently by

(3) With a more efficient
(5) No correction required
109. Staff in the district offices can easily monitor whether
the payments are being made in time.
(1) Easily be monitored  (2) Monitor easier whether
(3) Easy to monitor that  (4) Monitor easily
(5) No correction required
110. Most of the managers whom involved in the deal had
previously worked for multinational banks.
(1) Whose involved (2) Involvement with
(3) Involving whom (4) Involved in
(5) No correction required

(4) For better efficiency

Directions (111-120) In the following passage there are
blanks, each of which has been numbered. These numbers
are printed below the passage and against each, five words
are suggested, one of which fits the blank appropriately.
Find out the appropriate word in each case.One rainy day
while driving me home from school my father stopped to
offer a frail old man a lift. Though he was headed in the
opposite (111) my father insisted. By the time we (112)
home it was late and [ was tired and (113) with my father.
That night, my father (114) me a bedtime story as usual-A
(115) Emperor was once asked “Sire, while you (116) rich
and powerful, your teacher doesn’t even (117) a piece of
land yet you visit him, (118) don’t you summon him to
court ?” The Emperor (119) and said, “You are mistaken, my
teacher is (120) than [ am. My land can be lost in a war but
he possesses knowledge which can never be stolen.” “The
old man was my teacher.” my father concluded. [ have never
forgotten the lesson my father ‘taught’ me that day.

111. (1) route (2) manner (3) direction

(4) side  (5) way
112. (1) left (2) arrived (3) return
(4) gone (5) reach

113. (1) complained
(3) hungry(4) upset
114. (1) taught (2) described
(4) reads (5) related
115. (1) greedy (2) honest
(4) mighty (5) cruel

(2) annoying
(5) worried
(3) told

(3) foolish

116. (1) are (2) being (3) were
(4) so (5) seem
117. (1) own (2) earn (3) acquire
(4) possessed (5) has
118. (1) however (2) but
(3) instead(4) when (5) why
119. (1) shouted (2) silent
(3) thinks (4) smiled (5) prayed
120. (1) powerful (2) wise (3) wealthy
(4) stronger (5) richer
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121.

122.

123.

124.

125.

126.

127.

128.

129.

130.

131.

132.

133.

COMPUTER COMPETENCY

Which of the following is NOT a computer
programming language?

()c (2) C++

(4) COBOL (5) Microsoft
A computer virus normally attaches itself to another
computer program known as-

(1) Trojan horse (3) Host program (3) Boot program
(4) Spyware (5) Malware

A terminal that cannot process any information is
called-

(1) Direct access terminal (2) Intelligent terminal

(3) Dumb terminal (4) Smart terminal

(5) Blind terminal

___is ahigh speed memory that can be used in
between CPU and main memory.

(3) Java

(1) CPU (2) Buffer (3) Spooling

(4) Cache (5) None of these

A ___portis primarily used to connect printers to a
computer.

(1) Serial port (2) USB port  (3) Parallel port
(4) Address bus  (5) None of these

___isresponsible for overall control and co-ordination
of instruction execution.

(1) CPU (2) ALU (3) RAM

(4) Control Unit  (5) None of these

When you start your computer from the off position
then it is known as-

(1) Hard booting (2) Processing (3) Storage

(4) Soft booting  (5) None of these

The component is required to process data into
information and consists of integrated circuit.

(1) RAM (2) Control Unit (3) Processor

(4) Motherboard (5) None of these
____isknown as network virus.

(1) Trojan horse (2) Brain Virus (3) Worm

(4) All of these (5) None of these

___is atechnique of temporarily removing inactive
programs from the memory of computer system.

(1) Swapping (2) Spooling  (3) Semaphore
(4) Scheduler (5) None of these

A computer program that translates one program
instructions at a time into machine language is called-
(1) Interpreter (2) CPU (3) Compiler

(4) Simulator (5) None of these

____are device used to transmit data over
telecommunication lines.

(1) Drives (2) Drive bays (3) Modems

(4) Platforms (5) None of these

Who introduced Internet E-mail?

(1) Jerry Yang (2) David Filo (3) Ray Tomlinson

134.

135.

136.

137.

138.

139.

140.

141.

142.

143.

144.

145.

146.

(4) Sergey Brinn  (5) None of these

Granting an outside organization access to internet
web pages is often implemented using a(n)-

(1) extranet (2) intranet (3) internet

(4) hacker (5) None of these

BCC stands for-

(1) Bold Carbon Copy (2) Blue Carbon Copy
(3) Bandwidth Carbon Copy (4) Blind Carbon Copy
(5) None of these

Which of the following contains information about a
single ‘entity’ in the database like a person, place, event

or thing?
(1) Query (2) Field (3) record
(4) table (5) None of these

Outlook Express is known as-

(1) E-mal client  (2) Word processor (3) Spreadsheet
(4) Database (5) None of these

Which is not closed source software package?

(1) VLC (2) LINUX (3) Open Office

(4) MS Word (5) None of these

Minimum Zoom percentage supported by MS Word is-
(1) 10% (2) 15% (3) 25%

(4) 4% (5) None of these

HTML was introduced by-

(1) Vinton Cerf ~ (2) Bob Willies (3) Steve Jobs

(4) Tim Burner Lee (5) None of these
A message with replies on a newsgroup is often, called
a-

(1) post (2) list (3) thread

(4) comment (5) None of these

To send e-mail to a large group at one time,a___ can
be used.

(1) group (2) alias (3) mail server

(4) list serv (5) None of these

The E-commerce domain that involves business
activity initiated by the consumer and targeted to
businesses is known as-
(1) Business to business
(3) Client to business
(5) None of these

A repair for a known software bug, usually available at
no change on the internet is called-

(1) Version (2) Patch (3) Tutorial

(4) FAQ (5) None of these

When sending the e-mail, the ___line describes the
contents of the message.

(2) Consumer to business
(4) Business to consumer

(1 cc (2) Contents  (3) To
(4) Subject (5) BCC

A port is a connector located on the -

(1) RAM (2) CPU (3) ROM
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(4) Memory (5) Motherboard
147. Format command is used to create-
(1) Sector (2) memory
(4) tracks & sectors
148. Disk access time is-
(1) seek time
(3) Seek time + Latency time
(5) None of these
149. ___ technology is used by banks for faster processing
of large volume of cheques.
(1) OCR (2) IFSC Code
(4) MICR (5) Bar Code
150. The Operating System is also called the ___ between
the user and the computer.
(1) server (2) interface  (3) network
(4) intermediate (5) None of these
151. A human being who writes programs, operate and
maintain computer is known as-
(1) Liveware (2) Freeware (3) Spyware
(4) Shareware (5) None of these

(3) tracks
(5) None of these

(2) Latency time
(4) Disk time

(3) OMR

152. A Public Switched-Telephone Network (PSTN) uses ___

switching technique.
(1) Packet (2) Message  (3) Circuit
(4) Transport (5) None of these

153. The PC and the Apple Macintosh are example of two
different -
(1) applications  (2) programs (3) platforms
(4) storage device (5) Operating system

(4) non-volatile  (5) None of these

155. When installing a peripheral device you also need to
install a -
(1) port (2) server (3) driver
(4) connection (5) utility software

156. The ___ specifies the operation to be performed and
the operands provide the data on which the operation
is to be performed.
(1) source code  (2) op code (3) object code
(4) program code (5) None of these

157. Which of the following can hold maximum amount of
data?
(1) Optical disk
(3) Magnetic disk inside computer
(4) Magnetic tape

158. A___ is not a form of Biometrics.
(1) fingerprint (2) password  (3) retina scan
(4) breathscan  (5) None of these

159. Full form of OSI is-
(1) Open System Interconnection
(2) Open Software for Internet
(3) Operational System for Interconnect
(4) Operational Software for Internet
(5) None of these

160. A pixel is-
(1) a computer program that draws picture
(2) a picture stored in the secondary memory
(3) the smallest resolvable part of a picture

(2) Floppy disk

(5) None of these

154. PROM isa ___ memory that store information even if (4) a virus (5) None of these
power is switched off.
(1) Volatile (2) Buffer (3) spooling
GENERAL AWARENESS

161. Name the Nobel Peace Prize winner who was named
the winner of one of the world’s leading religion prizes,
Templeton Prize for 2012 by the John Templeton
Foundation on 29th March, 2012.

(1) Dalai Lama (2) Tawakkul Karman
(3) Ellen Johnson Sirleaf (4) Baba Ramdev

(5) Anna Hazare
162. Who was elected the New President of Senegal?
(1) Abdoulaye Wade (2) Macky Sall

(3) Erich Sherry

(5) Naseer Abdullah
163. Following RBI’s decision to hike bank rate, the food

ministry increased the interest rate on loans provided

to sugar factories from the Sugar Development Fund

(SDF)to what percent from the earlier 4% from Feb

(4) Abdou Diouf

20127
(1) 7% (2) 7.5% (3) 8%
(4) 8.8% (5) 9%

164. Which of the following fall under the qualitative
methods of credit control adopted by the Reserve Bank
of India (RBI)?

(1) Selective Credit Control

(2) Credit Authorization Scheme

(3) Moral Suasion (4) All of the above
(5) None of the above

165. As per the recent data released by the Government of
India, approximately what fraction of India’s oil and
petroleum consumption is consumed by fertilizer and
power sectors?

(1)30% (2) 40%
(4) 60% (5) 70%

166. Name the youngest ever and the only Arab woman to
win a Nobel Prize for ‘non-violent’ struggle for the
safety of women and for women'’s rights.

(1) Ellen Johnson Sirleaf  (2) Leyhmah Gbowee
(3) Tawakkol Karman (4) Liu Xiabao
(5) Martti Ahtisaari

(3) 50%
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167.

168.

169.

170.

171.

172.

173.

174.

175.

176.

177.

India recently carried out the maiden test flight of its
second indigenous Airborne Early Warning Control
System aircraft developed by DRDO in-

(1) Odisha (2) France (3) Andhra Pradesh
(4) Brazil (5) Russia

Human Resource Development Ministry constituted a
10-member committee headed by Madhya Pradesh
School Education Minister to prepare an ambitious
plan to roll out community colleges in the country.
Name of the minister is-

(1) Jhina Hikaka (2) Heena Sidhu (3) Archana Chitnis
(4) Shivraj Singh Chauhan (5) Ram Gopal Yadav

The Banking Laws Committee was headed by-

(1) RK.Talwar  (2) Dr. P.V. Rajamannar

(3) FKF Nariman (4) Dr. Prakash Tandan

(5) None of the above

Fourteen major Indian Banks having deposits of more
than Rs 50 crores were nationalized on-

(1) 15t August, 1947 (2) 26t Jan, 1950

(3) 19th July, 1969 (4) 14t February, 1970

(5) None of these

Which of the following is the first commercial bank
who had launch a mutual fund?

(1) State Bank of India (2) Canara Bank

(3) Indian Bank (4) Bank of India

(5) Indian Overseas Bank

ATM cards are issued to a person who maintains which
of the following accounts with the bank?

(1) Saving bank accounts (2) Current accounts

(3) Term deposits (4) Loan or Cash credit accounts
(5) Either (1) or (2)

SEBI was established in the year.

(1) 1993 (2) 1992 (3) 1988

(4) 1990 (5) 1994

The merchant banking activity in India is governed by-
(1) SEBI (2) RBI (3) IRDA

(4) All of these (5) None of these

The regulator of mutual fund in India is-

(1) FIMMDA (2) AMFI (3) RBI

(4) SEBI (5) None of these

Bankassurance is-

(1) an insurance scheme to insure bank deposits

(2) an insurance scheme to insure bank advances

(3) a composite financial service offering both bank
and insurance products.

(4) a bank deposit scheme exclusively for employees of
insurance companies

(5) None of these

Which of the following is/are ‘Term Deposits’?

(1) Fixed Deposits (2) Re-investment Deposits
(3) Recurring Deposits (4) None of the above

(5) All of the above

178.

179.

180.

181.

182.

183.

184.

185.

186.

187.

188.

189.

NABARD was set up as an apex Development Bank
with a mandate for facilitating credit flow for
promotion and development of-

(1) Agriculture (2) Small Scale Industries
(3) Cottage and Village Industries

(4) Handicrafts and other rural crafts

(5) All of these

Which of the following is not a negotiable instrument?
(1) Promissory note (2) Bill of exchange

(3) Cheque (4) Bank Draft (5) Share certificate
Co-operative Banks are regulated by-

(1) NABARD (2) RBI (3) SBI

(4) Central Govt. (5) None of these

What amount has been allotted for capitalization of
Public sector banks in the Union Budget 2012-13?
(1) Rs 1380 crore (2) Rs 1490 crore (3) Rs 1500 crore
(4) Rs 1588 crore (5) None of these

Under which category will you classify Regional Rural
Banks?

(1) Scheduled Commercial Banks

(2) Co-operative Banks  (3) Private Sector Banks
(4) Development Banks  (5) None of these

What is the current Cash Reserve Ratio?

(1) 3.75 (2) 4.75 (3)55

(4) 6 (5) None of these

Who decides on the quantity of coins to be minted?
(1) The Govt. of India  (2) RBI  (3) Either (1) or (2)
(4) Both (1) & (2) (5) None of these

The commercial banking system in India consists of -
(1) nationalized banks and private sector banks

(2) scheduled and non-scheduled banks

(3) regional rural banks, co-operative banks and land
development banks

(4) All of these (5) None of these

What does EBT stands for-

(1) Electronic Belated Transfer

(2) Electronic Bearer Transaction

(3) Electronic Benefit Transfer

(4) Electronic Basic Transaction

(5) None of these

Money market instruments-

(1) are usually sold in large denominations

(2) have low default risk

(3) mature in one year or less

(4) are characterized by all of the above

(5) are characterized by (1) and (2)

Capital market is a market which deals in-

(1) short-term funds (2) long-term funds

(3) gilt-edge funds (4) All of these

(5) None of these

When the rate of inflation increases-

(1) purchasing power of money increases
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190.

191.

192.

193.

194.

(2) purchasing power of money decreases

(3) vale of money increases

(4) purchasing power of money remains unaffected

(5) amount of money in circulation decreases

A centralized databases with online connectivity to
branches internet as well as ATM-network which has
been adopted by almost all major banks of our country
is known as-*

(1) Investment banking
(3) Mobile banking

(5) Network banking
Upper limit prescribed for NEFT transaction is -

(1) Rs 1 lakh (2)Rs2Lacs (3) Rs5Lacks

(4) Rs 50 Lacks  (5) No upper limit is prescribed
Interest on savings bank account is now calculated by
banks on-

(1) minimum balance during the month

(2) minimum balance from 7t to last day on the month
(3) Minimum balance from 10t to last day of the
month

(4) maximum balance during the month

(5) daily product basis

Who is the Chairman of the committee constituted by
RBI to study issues and concerns in the Micro Finance
Institutions (MFI) sector?

(1) K C Chakraborty (2) C Rangarajan

(3) M Damodaran (4) Y H Malegam (5) None of these
Name the diesel locomotive engine built by Diesel
Locomotive Works, Varanasi recently?

(1) Cheetah (2) Bheem (3) Shera

(2) Core banking
(4) Banking Ombudsman

(4) Kavita (5) None of these
195. Who has been appointed as the New CMD of OBC?
(1) MG Sanghvi  (2) D Sarkar  (3) S L Bansal
(4) MV Nayar (5) None of these
196. Who is the current Minister of Commerce and Trade?
(1) Jayanti Natrajan (2) Mukul Wasnik
(3) Anand Sharma (4) Pawan Bansal
(5) None of these
197. The finance secretary of India is-
(1) RK Singh (2) RS Gujral
(4) Ranjan Mathai (5) Sunil Mitra
198. The Nuclear Summit-2012 held recently in-
(1) SKorea (2) Brazil (3) Australia
(4) Japan (5) None of these
199. EFT (Electronic Fund Transfer) ensures-
(1) Speed (2) reliability  (3) security
(4) accuracy (5) All of these
200. Army has announced the year 2012 as - Year of the

(3) Ajeet Seth

(1) Co-operatives (2) Veterans (3) Green Energy
(4) Mathematics (5) None of these
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